
=LPDB����

*UXSD�5R]NãDG������.6%�/����%ģ�&���7\J������

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�D�����.6%�/����%ĝ�/�E

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�

�������������7\G]��

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�$%������ ���
.6%�/����%ĝ�/�

�������������7\J��������������

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�$%�������7\G]
����=DMĊFLD�RQ�OLQH��7\J��������������.6%�/����%ĝ�/�D�
���.6%�/����%ĝ�/�E

�������������7\J������

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�

�������������7\G]��

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�D�����.6%�/����%ĝ�/�E

�������������7\J������

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��7\G]
����$������7\G]����
=DMĊFLD�RQ�OLQH��7\G]�����
���.6%�/����%ĝ�/�

�������������7\J�������
����������

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��7\J
�������$������7\J�������
=DMĊFLD�RQ�OLQH��7\J
���������� ���.6%�/���
%ĝ�/�D�����.6%�/����%ĝ
/�E

�������������7\G]��

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�=DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�/�

�������������7\G]��

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�=DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�/�D�����.6%�/����%ĝ
/�E

�������������7\G]���

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��$�
���� ���.6%�/����%ĝ�/�

�������������7\J������

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��7\G]
����$������7\G]����
=DMĊFLD�RQ�OLQH��7\G]�����
���.6%�/����%ĝ�:U�

�������������7\J�������
����������

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��7\J
�������$������7\J�������
=DMĊFLD�RQ�OLQH��7\J
���������� ���.6%�/���
%ĝ�:U�D�����.6%�/���
%ĝ�:U�E

�������������7\G]��

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�=DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�:U�

�������������7\G]��

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�=DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�:U�D�����.6%�/���
%ĝ�:U�E

�������������7\G]���

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��$�
���� ���.6%�/����%ĝ
:U�

SR
QL

HG
]L

Dã
HN

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG������.6%�/����%ģ�&���7\J������

������
������
7\G]���

'DNW\ORVNR
SLD�L
HNVSHUW\]D
GDNW\ORVNR
SLMQD� PJU
0DVáRĔ
3U]HP\VáD
Z� $����
/$%�
.5<0,1$/
,67<.,��$�
���� ���
.6%�/���
%ĝ�/�

]DMĊFLD
VWDFMRQDUQ
H

������
������
7\G]���

'DNW\ORVNR
SLD�L
HNVSHUW\]D
GDNW\ORVNR
SLMQD� PJU
0DVáRĔ
3U]HP\VáD
Z� $����
/$%�
.5<0,1$/
,67<.,��$�
���� ���
.6%�/���
%ĝ�:U�

]DMĊFLD
VWDFMRQDUQ
H

������
������
7\G]���

'DNW\ORVNR
SLD�L
HNVSHUW\]D
GDNW\ORVNR
SLMQD� PJU
0DVáRĔ
3U]HP\VáD
Z� $����
/$%�
.5<0,1$/
,67<.,��$�
���� ���
.6%�/���
%ĝ�/�D�����
.6%�/���
%ĝ�/�E

]DMĊFLD
VWDFMRQDUQ
H

������
������
7\G]���

'DNW\ORVNR
SLD�L
HNVSHUW\]D
GDNW\ORVNR
SLMQD� PJU
0DVáRĔ
3U]HP\VáD
Z� $����
/$%�
.5<0,1$/
,67<.,��$�
���� ���
.6%�/���
%ĝ�:U�D�
���.6%�/�
���%ĝ
:U�E

]DMĊFLD
VWDFMRQDUQ
H

SR
QL

HG
]L

Dã
HN

�������������7\J������
�����

36:��Z�� ���.6%�/���
:

�������������7\J�����������

%DGDQLD�'1$� GU�0\JD�1RZDN
0DJGDOHQD� =DMĊFLD�RQ�OLQH� ���.6%�/�
���%ĝ�:U�D�����.6%�/����%ĝ�:U�E

�������������7\J�����������

)RQRVNRSLD� GU�+\OD�0DáJRU]DWD� =DMĊFL
D�RQ�OLQH� ���.6%�/����%ĝ�/�

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�
1RZDN�0DJGDOHQD�=DMĊF
LD�RQ�OLQH� ���.6%�/���
%ĝ�:U�D�����.6%�/���
%ĝ�:U�E

�������������7\G]���

)RQRVNRSLD� GU�+\OD
0DáJRU]DWD� =DMĊFLD�RQ�
OLQH� ���.6%�/����%ĝ�/�

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�D�����.6%�/����%ĝ�/�E

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�
1RZDN�0DJGDOHQD�=DMĊF
LD�RQ�OLQH� ���.6%�/���
%ĝ�/�

�������������7\G]���

=DU]ąG]DQLH
EH]SLHF]HĔVWZHP
LQIRUPDFML� PJU�.XODZLN
'DPLDQ� =DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�:U�

�������������7\G]���

)RQRVNRSLD� GU�+\OD
0DáJRU]DWD� =DMĊFLD�RQ�
OLQH� ���.6%�/����%ĝ
/�D�����.6%�/����%ĝ
/�E

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�
1RZDN�0DJGDOHQD�=DMĊF
LD�RQ�OLQH� ���.6%�/���
%ĝ�/�D�����.6%�/����%ĝ
/�E

�������������7\J�����������

=DU]ąG]DQLH�EH]SLHF]HĔVWZHP
LQIRUPDFML� PJU�.XODZLN�'DPLDQ� =DMĊFL
D�RQ�OLQH� ���.6%�/����%ĝ�:U�

�������������7\J�����������

)RQRVNRSLD� GU�+\OD�0DáJRU]DWD� =DMĊFL
D�RQ�OLQH� ���.6%�/����%ĝ�/�D�����.6%�
/����%ĝ�/�E

�������������7\G]���

=DU]ąG]DQLH
EH]SLHF]HĔVWZHP
LQIRUPDFML� PJU�.XODZLN
'DPLDQ� =DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�:U�D�
���.6%�/����%ĝ�:U�E

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�
1RZDN�0DJGDOHQD�=DMĊF
LD�RQ�OLQH� ���.6%�/���
%ĝ�:U�

������
������
7\G]���

)RQRVNRSLD
� GU�+\OD
0DáJRU]DWD
� =DMĊFLD
RQ�OLQH� ���
.6%�/���
%ĝ�/�D�����
.6%�/���
%ĝ�/�E

������
������
7\G]���

%DGDQLD
'1$� GU
0\JD�
1RZDN
0DJGDOHQD
� =DMĊFLD
RQ�OLQH� ���
.6%�/���
%ĝ�:U�

�������������7\J�����������

%DGDQLD�'1$� GU�0\JD�1RZDN
0DJGDOHQD� =DMĊFLD�RQ�OLQH� ���.6%�/�
���%ĝ�:U�

]DMĊFLD�RQOLQH

�������������7\J�����������

=DU]ąG]DQLH�EH]SLHF]HĔVWZHP
LQIRUPDFML� PJU�.XODZLN�'DPLDQ� =DMĊFL
D�RQ�OLQH� ���.6%�/����%ĝ�:U�D�����
.6%�/����%ĝ�:U�E

������
������
7\G]���

'DNW\ORVNR
SLD�L
HNVSHUW\]D
GDNW\ORVNR
SLMQD� PJU
0DVáRĔ
3U]HP\VáD
Z� =DMĊFLD
RQ�OLQH� ���
.6%�/���
%ĝ�:

Z
WR

UH
N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG������.6%�/����%ģ�&���7\J������

������
������
7\G]���

=DU]ąG]DQL
H
EH]SLHF]HĔ
VWZHP
LQIRUPDFML�
GU�KDE�
&LHVLHOVNL
:RMFLHFK�
=DMĊFLD�RQ�
OLQH� ���
.6%�/���
%ĝ�:

������
������
7\G]���

)RQRVNRSLD
� GU�+\OD
0DáJRU]DWD
� =DMĊFLD
RQ�OLQH� ���
.6%�/���
%ĝ�/�

������
������
7\G]���

%DGDQLD
'1$� GU
0\JD�
1RZDN
0DJGDOHQD
� =DMĊFLD
RQ�OLQH� ���
.6%�/���
%ĝ�:U�D�
���.6%�/�
���%ĝ
:U�E

������
������
7\G]���

=DU]ąG]DQL
H
EH]SLHF]HĔ
VWZHP
LQIRUPDFML�
PJU
.XODZLN
'DPLDQ� =
DMĊFLD�RQ�
OLQH� ���
.6%�/���
%ĝ�:U�

������
������
7\G]���

=DU]ąG]DQL
H
EH]SLHF]HĔ
VWZHP
LQIRUPDFML�
PJU
.XODZLN
'DPLDQ� =
DMĊFLD�RQ�
OLQH� ���
.6%�/���
%ĝ�:U�D�
���.6%�/�
���%ĝ
:U�E

Z
WR

UH
N

�������������7\J�����������������

-Ċ]\N�REF\� ���.6%�/����:

�������������7\J����

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD�
PJU�0DVáRĔ�3U]HP\VáDZ� =DMĊFLD�RQ�OLQH� ��
�.6%�/����%ĝ�:

�������������7\G]��

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�=DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�:

ĤU
RG

D

�������������7\J������
�����

36:��Z�� ���.6%�/���
:

�������������7\J����

=DU]ąG]DQLH�EH]SLHF]HĔVWZHP�LQIRUPDFML�GU
KDE��&LHVLHOVNL�:RMFLHFK� =DMĊFLD�RQ�OLQH� ��
�.6%�/����%ĝ�:

�������������7\G]��

=DU]ąG]DQLH
EH]SLHF]HĔVWZHP
LQIRUPDFML� GU�KDE�
&LHVLHOVNL�:RMFLHFK� =DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�:

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�=DMĊFLD�RQ�OLQH�
���.6%�/����%ĝ�/�

�������������7\J�������

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��7\G]
�����$������7\G]�����
=DMĊFLD�RQ�OLQH��7\G]�����
���.6%�/����%ĝ�/�

�������������7\G]���

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�=DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�/�

�������������7\J�������

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��7\G]
�����$������7\G]�����
=DMĊFLD�RQ�OLQH��7\G]�����
���.6%�/����%ĝ�:U�

�������������7\G]���

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�=DMĊ
FLD�RQ�OLQH� ���.6%�/���
%ĝ�:U�

F]
Z

DU
WH

N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG������.6%�/����%ģ�&���7\J������

�������������7\G]���

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��$�
���� ���.6%�/����%ĝ
/�D�����.6%�/����%ĝ
/�E

�������������7\G]���

'DNW\ORVNRSLD�L
HNVSHUW\]D
GDNW\ORVNRSLMQD� PJU
0DVáRĔ�3U]HP\VáDZ�$�
����/$%�
.5<0,1$/,67<.,��$�
���� ���.6%�/����%ĝ
:U�D�����.6%�/����%ĝ
:U�E

F]
Z

DU
WH

N

�������������7\J����������

%LRPHWULD�WZDU]\�L�RND�SURI��6FXUHN
5DGRPLU� ���.6%�/����%ĝ�/�

]DMĊFLD�RQOLQH

�������������7\J����������

%LRPHWULD�WZDU]\�L�RND�SURI��6FXUHN
5DGRPLU� ���.6%�/����%ĝ�/�D�����
.6%�/����%ĝ�/�E

]DMĊFLD�RQOLQH

SL
ĈW

HN
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


